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2.

3.

4.

5.

hedge plant

(Sexual deceit-resemblance of
 flower to female bee)



MULTIPLE CHOICE QUESTIONS 
5. Which part of human body is a unique habitat for hundred of species of
 microbes?
a) Urinary bladder 
b) Mouth 
c) Intestine 
d) Stomach
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6.

(epiphyte)

Name the two intermediate hosts of human liver fluke.



6. select the statement which explains best commensalism 

a) One organism is benefited

b) Both organisms are benefited

c) One organism is benefited, other is not affected 

d) One organism is benefited, other is affected

7. Which of the following statement is not true for logistic growth.

a) Resources are limited.

b) It is represented by sigmoid curve

c) Population density never reaches the carrying capacity.

d) The final phase is asymptote.

8.  Select the incorrect match

a) Predation-biological control

b)  Competition-cuckoo bird

c)  Commensalism- epiphyte

d)  Mutualism-mycorrhizae

9.  When a population grows in a habitat with limited resources then following

 phases of achievement are observed - 

a)  Lag – Acceleration – Deceleration – Asymptote

b)  Log  – Deceleration – Acceleration – Asymptote

c)  Log – Acceleration – Deceleration – Asymptote

d)  Log – Acceleration – Asymptote – Deceleration

Assertion And Reason Questions

 Read the assertion and reason carefully and work the correct option out of the

 options given below :

a)  If both assertion and the reason are true and the reason is a correct explanation

 of the assertion.

b)  If both the assertion and reason are true but reason is not a correct explanation

 of the assertion.

c)  If the assertion is true but the reason is false.  
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10. Assertion :– Female mosquito is not considered as parasite although it needs

 our blood for reproduction.

 Reason : Parasitism is aimed to obtain either food or shelter.

11. Assertion : The monarch butterfly is highly distasteful to its predator

 Reason : This is evolved to lessen the impact of its prey

SA-I    

12. Differentiate between commensalism and amensalism

13. Write any two adaptations evolved by parasites.

14.Why abingdon tortoise became extinct in Galapagos Islands after 

introduction of Goats.

15. Why do clown fish and sea anemone pair up? What is this relationship called?

SA-I (3 Marks)

(2 Marks)

16.

17.
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Snail and fish.



4. Plant sap and other parts of the plant.

Answer 

5.   c)       6.      e)      7.       c)        8.     b)      9.     a)     10.    a)      11.     c0     

12. Commensalism: interaction in which one species benefits qnd the other is 
    neither harmed nor benefited. E.g cattle egret and grazing cattle.
    
    Amensalism:  Interaction in which one species is harmed and the other is 
    neither harmed nor benefited. E.g Penicillum toxins kills many bacteria is 
    neither benefited nor harmed.

13. Loss of unnecessary sense organs, presence of adhesive organs, suckers to 
   cling host, loss of digestive system, high reproductive capacity (any2)

14. Due to greater browsing efficiency of goats. 

15.

16.

17.
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17.
LA


